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Topic 0, A
A 

In the following diagram, the Replace Superclass option is set to true on ProcessB: The
following instances are created in code: processA = ProcessAFactory.newInstance();
processB = ProcessBFactory.newInstance(); processC = ProcessCFactory.newInstance();
processA = ProcessAFactory.newInstance(); processB = ProcessBFactory.newInstance();
processC = ProcessCFactory.newInstance(); Which of the following statements are true?
 
A. processA.method1 is equivalent to processB.method1A.processA.method1 is equivalent
to processB.method1A.processA.method1 is equivalent to processB.method1 
B. processA.method2 is equivalent to processC.method2B.processA.method2 is equivalent
to processC.method2B.processA.method2 is equivalent to processC.method2 
C. processC.method3 is equivalent to processB.method3C.processC.method3 is
equivalent to processB.method3C.processC.method3 is equivalent to processB.method3 
D. ProcessC.method1 is equivalent to ProcessA.method1D.ProcessC.method1 is
equivalent to ProcessA.method1D.ProcessC.method1 is equivalent to ProcessA.method1 
E. ProcessB.method2 is equivalent to ProcessA.method2E.ProcessB.method2 is
equivalent to ProcessA.method2E.ProcessB.method2 is equivalent to ProcessA.method2 
 

Answer: A,C,E

 

 

The code table file called MyCodetable.ctx is defined in the following components: core,
custom, and mycomponent. The SERVER_COMPONENT_ORDER variable is set as
SERVER_COMPONENT_ORDER=custom, mycomponent. core\MyCodetable.ctx
custom\MyCodetable.ctx mycomponent\MyCodetable.ctx Which of the following will be the
set of code\value pairs for MyCodetable? A.CV1 ?My Component Value 1 CV2 ?My
Component Value 2 A.CV1 ?My Component Value 1 CV2 ?My Component Value 2 A.CV1
?My Component Value 1 CV2 ?My Component Value 2
 
A. CV1 ?My Component Value 1 
CV2 ?My Component Value 2 
B. CV1 ?My Component Value 1B.CV1 ?My Component Value 1B.CV1 ?My Component
Value 1 
C. CV1 ?Custom Value 1 
CV2 ?Core Value 2 
D. CV1 ?Custom Value 1 
CV2 ?Core Value 2 
E. CV1 ?Custom Value 1 
CV2 ?Core Value 2 
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F. CV1 ?Custom Value 1 
CV2 ?Core Value 2 
G. CV1 ?Custom Value 1 
CV2 ?Core Value 2 
H. CV1 ?Custom Value 1D.CV1 ?Custom Value 1D.CV1 ?Custom Value 1 
 

Answer: C,D,E,F,G

 

 

Which of the following build targets will ensure that the runtime behavior of application
navigation accurately corresponds to what has been configured?
 
A. build generated 
B. build database 
C. build navconfig 
D. build inserttabconfiguration 
 

Answer: B,D

 

 

Which of the following artifacts are produced by a build generated command for an entity
class that contains stereotyped methods only?
 
A. Database table 
B. SQL script 
C. Java factory class 
D. Java struct class 
E. Java impl class 
 

Answer: B,C,D

 

 

Examine the following piece of code: curam.impl.MyProcess myProcess =
curam.fact.MyProcessFactory.newInstance(); Which of the following statements is true?
 
A. The code is incorrect because the object reference on the left of the assignment should
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